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টনদেে঱ভারা (Instructions): 

১. ফাাংরা ফা ইাংদযটজ এ দুটি বালায ফম ফকান একটিদি উত্তয ফেওয়া মাদফ। ( You can answer either in Bangla or 

English.) 

২. উত্তয ঳াংটিপ্ত ঴ওয়া ফাঞ্ছনীয়। (The answers should be as brief as possible.) 

৩. ‘জানা েযকায ’ অাংদ঱ উদেটখি টফলয়গুদরায টফস্তাটযি ফর্েনা প্রদেয ফ঱দল ঳াংমুক্ত। ( Topics mentioned under 

‘Required knowledge’ are described at the end of the question paper.) 

৪. ঳াধাযর্ ঳ভাধাদনয ফিদে গাটর্টিক পভুেরা , ধাদ঩ ধাদ঩ ফর্েনা , ফপ্রাগ্রাটভাং ফকাড - এয   ফম ফকান টকছুই গ্র঴র্দমাগয। 
(For general solutions Mathematical formula, step by step description or programming code - anything 

is acceptable.) 

৫. আাংট঱ক উত্তযও ভূরযায়ন-ফমাগয , িাই মিিুকু ঳ম্ভফ উত্তয ফেওয়ায জদে উৎ঳াট঴ি কযা ঴দে। ( Partial answers 

will also be evaluated, so we encourage you to answer as much as you can.) 

৬. ফভাি প্রে ৭ টি। প্রটিটি প্রদেয ভান ২০। (Number of questions is 7. Each question carries 20 marks.) 

  



Question 1: 

 

একিা টফশ্বটফেযারদয় নূযনিভ কিজন ছাে বটিে কযদর িুটভ টনটিি বাদফ ফরদি ঩াদযা ফম অন্তি N জন ছাে একই ফজরা 
ফেদক এদ঳দছ ? ধদয নাও ফেদ঱য ফজরা ঳াংখযা K । (How many students must be enrolled in a university to 

ensure that there are at least N students who come from same district? Assume there are K 

different districts) 

A. ঳াধাযর্ ঳ূেটি টরখ। (Write the general formula) [10] 

B. উত্তয টরখ, মখন N = 2, K = 3 (Give the answer when N = 2, K = 3) [4] 

C. উত্তয টরখ, মখন N = 201, K = 50 (Give the answer when N = 201, K = 50) [6] 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Question 2: 

ফিাভাদক একটি ধাযা ফেয়া আদছ। (You are given a series) 

 
1, 6, 13, 22, 33, 46, ?, ? 
 

A. ৭, ৮ িভ ঩েগুদরা টক টক? অেোৎ প্রেদফাধক টিহ্নগুদরায স্থাদন টক টক ফ঳দফ? (What are the 7th and 

8th term of this series?)[4] 

B. ৩০ িভ ঩েিা টক? (What is the 30th term?)[6] 

C. N িভ ঩দেয জে ঳াধাযর্ ঳ূে টরখ। (Write a general formula for Nth term) [10] 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Question 3: 
 

৩িা ফাক্স আদছ, একটি ফাদক্স আদছ আদ঩র, একটিদি কভরা এফাং অেটিদি দুটি পদরয টভশ্রর্। প্রটিিা ফাদক্স বুর ফরদফর 

রাগাদনা আদছ। িাযভাদন ফকাদনা ফাদক্স মটে ফরখা োদক "কভরা" িা঴দর ফ঳ই ফাদক্স ঴য় আদ঩র আদছ না঴য় টভশ্রর্ আদছ। 
ফমদকান ফাক্স ফেদক ফভাি একটি ভাে পর িুদর ফিাভাদক ফরদি ঴দফ ফকান ফাদক্স টক আদছ। টকবাদফ ঳ভাধান কযদফ? 

টনদজয বালায় টরদখা। (There are 3 boxes, one box contains apple, one contains orange and another 

contains mixture of two. The boxes have wrong labels. So if a box is labeled “orange” you are 
sure that this box contains either apple or mixture. Now you can pick exactly one fruit from any 
basket to determine which box contains which fruit. Write the solution in your own language)                                                                                              
[20] 
 
 
 
 
 
 
 
 
  



Question 4: 

 

ফিাভায কাদছ ১, ৩, ৫, ১০ এফাং ৫০ িাকায কদয়ন আদছ, প্রটিিা কদয়ন মিফায ইো ফযফ঴ায কযদি ঩াদযা। িুটভ মটে 

঳ফদিদয় কভ ঳াংখযক কদয়ন ফযফ঴ায কদয ১২ ফানাদি িাও িা঴দর ফিাভায ৩িা কদয়ন রাগদফ এফাং ৩িা কদয়ন টেদয় ১২ 

ফানাদনায একিা উ঩ায় ঴দরা দুিা ১ িাকায কদয়ন এফাং একিা ১০িাকায কদয়ন ফযফ঴ায কযা(১*২+১০*১=১২)। এখন 

টনদিয প্রেগুদরায উত্তয োও। (You have some coins of value 1, 3, 5, 10 and 50 taka. You can use 

each coin as many time as you like. If you want to make 12 using minimum number of coin you 
need 3 coins and a way to make 12 using 3 coins is take two 1 taka coin and one 10 taka 
coin(1*2+10*1=12). Now answer following questions.) 
 

A. নূযনিভ কয়িা কদয়ন েযকায ৮ িাকা ফানাদি? (State the minimum number of coins needed  to 

make 8 taka)  [4] 

B. নূযনিভ঳াংখযক কদয়ন ফযফ঴ায কদয ১২৯ িাকা ফানাদনায একিা উ঩ায় ফেখাও। (Show a way to make 

129 taka using minimum number of coins) [6] 

C. ফমদকান X ঩টযভার্ িাকা ফানাদি ঴দর নূযনিভ কদয়ন ঳াংখযা ফফয কযায একিা ঩দ্ধটি ফদরা।  (State a 

general way to make X taka using minimum number of coins) [10] 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  



Question 5: 

 

ছটফদি আয়িদিদেয দুটি ঩া঱ a এফাং b এয দেঘেয মোক্রদভ ৫ এফাং ৩। ফরদি ঴দফ ঴দফ ফৃত্তটিয ফিেপর কি?     

(In the picture the two sides of the rectangles are a and b. Find the area of the circle) 

 

[pi=3.1416, ফৃদত্তয ফিেপর (area of circle)=pi*(r2) ] [20] 

 

 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Question 6: 

টনদিয ছটফদি ফৃত্তগুদরা ঴দরা এদককিা ঱঴য আয িীযটিহ্নগুদরা ঴দরা এক ঱঴য ফেদক আদযকটিদি মাফায যাস্তা।  
(In the picture the circles represent towns and arrows are roads between two towns.) 
 
 

 



 

A.  ঱঴য A ফেদক ঱঴য C ফি কি বাদফ মাওয়া মায়? (How many ways are there to go from town A 

to town C?)    [4] 

B.  ঱঴য A ঱঴য ফেদক B ফি কি বাদফ মাওয়া মায়? (How many ways are there to go from town A 

to town B?)    [6] 

C. ঳ফগুদরা ঩ে একিা একিা কদয না গুদর্ টকবাদফ উ঩দযয প্রে দুটি ঳ভাধান কযা মায়?  (How to solve 

the above questions without counting all the paths one by one?) [10] 
  



Question 7: 

ফিাভায কাদছ একিা ফির ফেওয়া গযভ কড়াই আদছ। কড়াইিাদি িুটভ ভাছ বাজদি িাে। কড়াইিাদি এক঳াদে ে঱িা 
ভাছ বাজা মায়। ভাদছয একিা ট঩ঠ বাজদি ১ টভটনি ঳ভয় রাদগ। এখন ফিাভাদক মটে N িা ভাছ ফেয়া োদক, িা঴দর 

নূযনিভ কি ঳ভদয় িুটভ ঳ফগুদরা ভাছ বাজদি ঩াযদফ?একটি ভাছ ঩ুদযা঩ুটয বাজদি ঴দর িায দুই ট঩ঠই বাজদি ঴দফ।  

(You have a frying pan for preparing some fishes. You can fry at most 10 fishes at a time. You 
also need 1 minute to fry one side of a fish. If you have N fishes, determine the minimum time 

you would require to fry all of them? In order to completely fry a fish, you need to fry both its 
side.) 
A. ঳াধাযন ঳ূেটি টরখ। (Write the general formula) [10] 

B. উত্তয টরখ, মখন N = 4 (Give the answer when N = 4) [4] 

C. উত্তয টরখ, মখন N = 10 (Give the answer when N = 10) [6] 

 


